Władysław Kulpa Sandwich type theorems

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 35 (1994), No. 2, 45--50

Persistent URL: http://dml.cz/dmlcz/702013

Terms of use:

© Univerzita Karlova v Praze, 1994

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Sandwich Type Theorems

W. KULPA

Katowice*)

Received 15. March 1994

1. A subset $T \subset [0, 1]^{n+1}$,

$$T := \{t = (t_0, ..., t_n) : \sum_{i=0}^n t_i = 1, t_i \ge 0\}$$

is said to be the standard n-dimensional simplex. Let $D = [d_0, ..., d_n]$ be n-dimensional simplex spanned by the vertices $d_0, ..., d_n \in \mathbb{R}^n$,

$$D := \left\{ x \in R^n : x = \sum_{i=0}^n t_i \cdot d_i, \sum_{i=0}^n t_i = 1, t_i \ge 0 \right\}$$

where $t_i: D \rightarrow D$ means that the i-th barycentric coordinate function.

Denote by $D_i := [d_0, ..., d_i, ..., d_n]$ the i-th (n - 1)-dimensional face

$$D_i := \{x \in D : t_i(x) = 0\}$$

For each point $x \in \mathbb{R}^{n+1}$, $x = (x_0, ..., x_n)$, let us put

$$|x| = \sum_{i=0}^{n} |x_i|$$

The purpose of our paper is to discuss some consequences of the following lemma which is equivalent to the Brouwer fixed point theorem.

Lemma 1. Let $f: D \to [0, \infty)^{n+1}$, $f = (f_0, ..., f_n)$, be a continuous map such that

(1)
$$f_i(D_i) = \{0\}$$
 for each $i = 0, ..., n$

Then for each point $t \in T$, there is a point $x \in D$ such that

(2)
$$f(x) = |f(x)| \cdot t.$$

^{*)} Instytut Matematyki, Uniwersytet Śláski, 40 007 Katowice, Poland

Proof. If there is a point $x \in D$ such that f(x) = (0, ..., 0) then the lemma holds. Thus, without loss of generality, we may assume that

(3)
$$f(x) \neq (0, ..., 0)$$
 for each $x \in D$

Define a continuous map $g: D \to D$,

(4)
$$g(x) := \sum_{i=0}^{n} \frac{f_i(x)}{|f(x)|} \cdot d_i$$

According to the assumption (1) the map g has the following property

(5)
$$g(D_i) \subset D_i$$
 for each $i = 0, ..., n$

To prove the lemma it suffices to show the map is "onto". The proof of this fact is easy when we use arguments from the degree theory (see Deimling [2]). Indeed, define a map $h: D \times [0, 1] \rightarrow D$,

(6)
$$h(x, t) := (1 - t) \cdot x + t \cdot g(x)$$

From (5) it follows that for each $x \in D_i$ and $t \in [0, 1]$

$$(7) h(x, t) \in D_i.$$

From (6) and (7) we infer that for any $a \in \text{Int } D$,

$$\deg(g, D, a) = \deg(Id, D, a) = 1$$

and this implies that $a \in g(D)$, for each $a \in \text{Int } D$. But this is equivalent to g(D) = D.

2. For any point $x \in \mathbb{R}^n$ and a set $A \subset \mathbb{R}^n$ let d(x, A) means the distance between the point x and the set A,

$$d(x, A) := \inf \{ ||x - a|| : a \in A \}$$

From the lemma we get the following

Corollary. (Equilibrium Theorem). Let be given sets $A_0, ..., A_n \subset \mathbb{R}^n$ such that $D_i \subset A_i$ for each i = 0, ..., n. Then there exists a point $x \in D$ such that

$$d(x, A_0) = \ldots = d(x, A_n)$$

Proof. Let us define $f_i: D \to [0, \infty)$

$$f_i(x) := d(x, A_i), \quad i = 0, ..., n$$

Each of the maps f_i satisfies the assumption (1) and according to the Lemma 1 for the point $t = \left(\frac{1}{n+1}, ..., \frac{1}{n+1}\right)$ there is a point $x \in D$ such that $f(x) = |f(x)| \cdot t$, but this implies that

$$d(x, A_0) = \dots = d(x, A_n)$$

46

3. Let $\mu(A)$ means the n-dimensional Lebesgue measure of the set $A \subset \mathbb{R}^n$. For any point $x \in D$ let us denote

$$D_i(x) := [d_0, ..., d_{i-1}, x, d_{i+1}, ..., d_n]$$

the convex hull of the set $\{d_0, ..., d_{i-1}, x, d_{i+1}, ..., d_n\}$.

Corollary. (Sandwich Theorem). Let $A \subset D$ be a measurable set. Then for any point $t \in T$ there exists a point $x \in D$ such that for each i = 0, ..., n

(8)
$$\mu[A \cap D_i(x)] = t_i \cdot \mu(A)$$

Proof. Define a continuous map $f: D \to [0, \infty)^{n+1}, f = (f_0, ..., f_n),$

$$f_i(x) := \mu [A \cap D_i(x)] \qquad i = 0, ..., n$$

It is clear that for each $x \in D$

$$(9) |f(x)| = \mu(A)$$

According to the lemma 1 for each point $t \in T$ there is a point $x \in D$ such that $f(x) = |f(x)| \cdot t$. But from (9) we get that for each i = 0, ..., n, $f_i(x) = \mu(A) \cdot t_i$. For a given set $A \subset R^n$ and a point $x \in R^n$ let

$$A - x := \{a - x : a \in A\}$$

means a translation of the set A.

Assume that $P := [p_0, ..., p_n]$ is an *n*-dimensional simplex such that $0 \in \text{Int } P$. Let for each $i = 0, ..., M_i$ be the cone consisting of the union of all the rays joining 0 to the points of (n - 1)-dimensional face $P_i := [p_0, ..., \hat{p}_i, ..., p_n]$.

Corollary. (Kuratowski-Steinhaus Theorem). Let $A \subset \mathbb{R}^n$ be a bounded Lebesgue measurable set. Then for each point $t \in T$ there exist a point $x \in \mathbb{R}^n$ such that for each i = 0, ..., n

$$\mu[(A-x)\cap M_i]=\mu(A)\cdot t_i$$

Proof. Since the set A is bounded there exist a number s > 0 such that for the simplex $D := [d_0, ..., d_n]$, where $d_i = s \cdot p_i$ for each i = 0, ..., n, the following conditions hold

$$(10) A \subset D$$

and for each i = 0, ..., n and for each point $x \in D_i$

$$(11) \qquad (A-x) \cap M_i = \emptyset$$

Define a continuous map $f: D \to [0, \infty)^{n+1}, f = (f_0, ..., f_n),$

(12)
$$f_i(x) := \mu[(A - x) \cap M_i] \quad \text{for each} \quad i = 0, ..., n$$

From (10) and (11) it follows that for each $x \in D$ (13) $|f(x)| = \mu(A)$

and for each i = 0, ..., n

(14) $f_i(D_i) = \{0\}.$

Then for a given point $t \in T$ we obtain a point $x \in D$ such that

$$f(x) = \mu(A) \cdot t$$

And this means that for each i = 0, ..., n

$$\mu\bigl[(A-x)\cap M_i\bigr]=\mu(A)\cdot t_i\,.$$

4. In this part we shall consider some result related to the Urbanik paper [4].

Lemma 2. Let $g: [0, 1] \times [0, 1] \rightarrow [0, \infty)$ be a continuous function with the following properties

$$g(u, u) = 0$$

- (16) g(u, v) and g(v, w) = 0 implies g(u, w) = 0
- (17) g(0, 1) > 0.

Then for each natural number n > 0 there exist a real number d > 0 and a sequence

(18)
$$0 = u_0 < \dots < u_n < u_{n+1} = 1$$

such that for each i = 0, ..., n

(19)
$$g(u_i, u_{i+1}) = d$$
.

Proof. Let us define a continuous functions $u_i: D \to [0, 1]$ for i = 0, ..., n+1.

(20)
$$u_0(x) = 0, \quad u_i(x) = t_0(x) + \dots + t_{i-1}(x)$$

and functions $f_i: D \to [0, \infty)$ for i = 0, ..., n

(21)
$$f_i(x) = g[u_i(x), u_{i+1}(x)].$$

Observe that if $x \in D_i$ then $t_i(x) = 0$ and in consequence $u_i(x) = u_{i+1}(x)$ and now, from (15) we infer that $f_i(x) = 0$.

From the Lemma 1 it follows that there is a point $x \in D$ such that

(22)
$$f_0(x) = \dots = f_n(x)$$
.

Let us put for each i = 0, ..., n(23) $u_i = u_i(x)$ and $d = f_i(x)$.

From (22) and (23) we infer that for each i = 0, ..., n

(24)
$$d = g(u_i, u_{i+1}).$$

48

We show that d > 0. Suppose that d = 0. Then according to (16) we get

(25)
$$g(u_0, u_1) = \dots = g(u_n, u_{n+1}) = 0$$

And this implies that g(0, 1) = 0, a contradiction to (17).

Corollary. (Urbanik) Let $f : [0, 1] \to X$ be a continuous map into a metric space (X, d) such that $f(0) \neq f(1)$.

Then for each natural number n > 0 there exist a real number d > 0 and a sequence

 $0 = u_0 < u_1 < \dots < u_n < u_{n+1} = 1$

such that for each i = 0, ..., n

$$d = d[f(u_i), f(u_{i+1})]$$

Proof. Indeed, the function

(26)
$$g(u, v) := d[f(u), f(v)]$$

satisfies the conditions (15)-(17) of the Lemma 2.

Corollary. Let $f: S \to [0, \infty)$ be a continuous function defined on a triangle $S := \triangle ABC$ such that

(27)
$$f(x) = 0 \quad iff \quad x \in side \ AB.$$

Then for each natural number n > 1 there exists a sequence of points belonging to the side AB,

$$A = P_0 < P_1 < \dots < P_n < P_{n+1} = B$$

such that

$$f(Q_0) = \dots = f(Q_n)$$

where the points $Q_0, ..., Q_n \in S$ are vertices of the triangles $\triangle P_i Q_i P_{i+1}, i = 0, ..., n$ which are similar to the triangle S.

Proof. Consider a coordinate system such that the side AB is contained in the diagonal and A = (0, 0) and the product $[0, 1] \times [0, 1]$ is equal to the parallelogram ABCD. Now, extend the function f to a continuous function g defining

$$g(u, v) = f(u, v)$$
 if $u \leq v$, and $g(u, v) = f(v, u)$ if $v \leq u$.

According to the Lemma 2 there exist a real number d > 0 and a sequence $0 = u_0 < u_1 < ... < u_n < u_{n+1} = 1$ such that $d = g(u_i, u_{i+1})$ for each i = 0, ..., n. Now, the Corollary becomes obvious when put $Q_i := (u_i, u_{i+1})$ for i = 0, ..., n.

References

- BORSUK, K., An application of the theorem on antipodes to the measure theory, Bull. Acad. Polon. Sci. (1953), pp. 87-90
- [2] DEIMLING, K., Nonlinear Functional Analysis, Berlin Springer-Verlag 1985
- [3] KURATOWSKI, K. and STEINHAUS, H., Une application géométrique du théoréme de Brouwer sur les points invariants, Bull. Acad. Polon. Sci 1 (1953), pp. 83-86
- [4] URBANIK, K., Sur un probléme de J. F. Pál sur les courbes continues, Bull. Acad. Polon. Sci. 2 (1954), pp. 205-207

.